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GENERAL STUDIES
1.  The Chief Election Commissioner of India is appointed by
(a) Loksabha (b) Prime Minister
(c) President (d) Chief Justice of India

2. At the time of gaining of independence, the President of ‘Indian National Congress’ was
(a) J.B. Kripalani (b) Jawaharlal Nehru
(¢) Rajendra Prasad (d) Sardar Patel

3.  Which extremist leader of the freedom movement was given 6 years jail punishment i

1908 ?
(a) Bipin Chandra Pal (b) Balgangadhar Tilak
(c) Lala Lajpat Rai (d) Arbind Ghosh

4. The most famous centre of learning during Maurya period was
(a) Taxila (b) Ujjain
(c) Nalanda (d) Vallabhi

5. The famous Buddhist scholar Aswaghosh was a contemporary of
(a) Ashoka (b) Nagarjuna
(¢) Kanishka (d) Harsha

6. Which Viceroy was assassinated during his tenure ?
(a) Lord Curzon (b) Lord Mayo
(c¢) Lord Rippon (d) Lord Wellesley

7.  The proof of burying the dog with human body at which of the following places ?
(a) Burhom (b) Koldihava
(c) Chaupani (d) Mando

8.  The first Lokpal Bill was presented in the parliament in
(@) 1967 (®) 1971
(c) 1968 d 1972

9. Bhagat Singh, Sukhdev and Rajguru were sentenced to death in
(a) Alipur conspiracy case
(b) Lahore conspiracy case
(¢) Kakori conspiracy case
(d) Kanpur conspiracy case
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Which article of the Constitution provides safeguards to persons accused of crimes against
double jeopardy and self incrimination ?

(a) Article 19 (b) Article 22
(c) Article 21 (d) Article 20

When was Bengal re-united due to the protests by Indians ?
(a) 1905 () 1911
(c) 1947 @ 1971

Who is the writer of “Humayun-Nama” ?
(a) Zebunnisa (b) Jahanara
(c¢) Gulbadan Begum (d) Roshanara

Leelawati, a treatise on Mathematics, was written by
(a) Ramanuj (b) Kautilya
(c) Amartya Sen (d) Bhaskaracharya

Which community is given nominated seat in Uttarakhand Legislative Assembly ?
(a) Buddhist (b) Garwalis
(¢) Anglo-Indian (d) Muslims

Who was the founder of ‘Servants of India Society’ ?
(a) Madan Mohan Malviya

(b) Sarojini Naidu

(c) Justice Ranade

(d) Gopal Krishna Gokhale

The Forest Research Institute is situated at
(a) Nagpur (b) Mysore
(c) Dehradun (d) Emakulam

Which of the following is the latest country to reach an agreement on civil nuclear
cooperation with India ?

(a) Australia (b)  South Korea
(c) China (d) Israel

Famous Cave temples of Elephanta are ascribed to
(a) Chalukyas (b) Cholas
(c) Pallavas (d) Rashtrakoots
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19.

20.

21.

22,

23.

24.

25.

Abnormal level of cholesterol is associated with
(a) Hardening of arteries

(b) Hardening of veins

(¢) Kidney stones formation

(d) Liver cirrhosis

The joint session of both Houses of Parliament is presided over by
(@ Chairman of Rajya Sabha

(b) Prime Minster

(c) Speaker of Lok Sabha

(d) Leader of opposition in Rajya Sabha

Ranbir Singh Bist is related to
(a) Medicine (b) Painting
(c¢) Military (d) Police

The first Political Organization established in India in 1838 was known as
(a) British India Society

(b) Bengal British India Society

(c) Settlers Association

(d) Zamindari Association

What is the correct chronological sequence of the following events in the political life of*
Mahatma Gandhi ?

1.  Champaran Satyagrah

2.  Ahmedabad Mill strike

3. Kheda Satyagrah

4.  Non-cooperation Movement

(@ 2,431 b)) 1,3,2,4
() 4,3,2,1 (d 3,4,2,1

The Muslim League passed a resolution demanding the partition of India in its session held
at

(a) Lahore (b) Karachi
(c) Allahabad (d) Dhaka

Bombay was taken over by the English East India Company from
(a) the Dutch (b) the French
(c) the Danish (d) the Portuguese
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26.

27.

28.

29.

30.

31.

32.

33.

34.

3S.

In the third battle of Panipat Marathas were defeated by

(a) Afghans (b) Mughals
(c) English (d) Rohillas

The famous historian who visited India with Mahmud Ghazni was
(a) Ferishta (b) Al-Beruni
(c) Afif (d) Ibn Batuta

Who was defeated in the battle of Khanva ?
(a) Rana Pratap (b) Hemu
(c) RanaSanga (d) Allauddin Khilji

Mahatma Gandhi wrote his autobiography originally in
(a) Hindi (b) Marathi
(c) Gujarati (d) English

A visa is required for Kailash Mansarovar pilgrimage because it is located in
(a) Nepal (b) Chinese Tibet
(c) Bhutan (d) Sikkim

Where is Lothal situated ?
(a) Gujarat (b) Rajasthan
(c) Pakistan (d) Haryana

Right to property according to Constitution of India is a
(@ Fundamental Right (b) Directive Principle
(c) Legal Right (d) Social Right

The first railway line in India was started in the year
(a) 1853 (b) 1850
(c) 1840 (d 1890

The battle field of Plassey is situated in
(a) Bihar (b)  Andhra Pradesh
(¢) Orissa (d) West Bengal

Which of the following is the oldest Veda ?
(a) Samveda (b) Yajurveda
(c) Rigveda (d) Atharvaveda
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36.

37.

38.

39.

40.

41.

42.

43.

44.

Who among the following is known as the Cleopatra of Hollywood (who died on 23™

March, 2011 at the age of 79) ?
(@) Marlin Munro (b)
(¢) Kim Kurdashin (d)

In World Cup Cricket 2011 what was the highest score among all matches ?

(@) 307 Runs (b)
(c) 390 Runs (d

Who wrote the book ‘A Passage to India” ?
(a) Jawaharlal Nehru (b)
(¢) E.M. Forster (d)

Elizabeth Taylor

Paris Hilton

367 Runs
370 Runs

Minoo Masani
None of them

In which of the following films, A.R. Rehman gave outstanding sound track and song
which enabled him to get two Grammy Award in Los Angeles ?

(a) Tees Mar Khan (b)
(c) ‘Paa’ (d)

From which district of Uttarakhand State ‘Chipko Movement’ organised ?

(@ Chamoli (b)
(c¢) Tehn Garhwal (d)

Which of the following was not moderate ?
(a) Pherojshah Mehta ()
(c) Gopalkrishna Gokhale (d)

Mana Pass is located in
(a) Uttar Pradesh (b)
(c) Jammu-Kashmir (d)

The rotation of crops is essential for

(a) Increasing protein content in plants
(b) Getting different crops

(c) Increasing soil fertility

(d) Maintaining soil moisture

Influenza is caused by a

(@) Virus (b)
(c) Algae (d)

Slumdog Millionaire
Dabang

Uttarkashi
Pauri-Garhwal

Dadabhai Nauroji
Bal Gangadhar Tilak

Uttarakhand
Himachal Pradesh

Fungus
Bacterium




Uttarakhand PCS Exam (Prelim) 2011 General Studies Question Paper lac
(Prelim) £ Josh

45. The study related to the plants being used as vegetable is called
(a) Flori-culture (b) Pomology
(¢) Horticulture (d) Olericulture

46. Engymeisa
(a) Vitamin (b) Bacterium
(c) Bio-catalyst (d) Virus

47. Which of the following is not an infectious disease ?
(a) AIDS (b) Chicken-pox
(¢) Mumps (d) Herpes Simplex

48. Which of the following is not a genetic disorder ?
(a) Down-syndrome
(b) Haemophilia
(c) Irritable Bowl Syndrome (IBS)
(d) Sickle cell Anaemia

49. Which of the following is of organic origin ?
(@) Coral (b) Emerald
() Ruby (d) Topaz

50. Which of the following actions is related with evaporation of sweat ?
(a) Exothermic Action
(b) Endothermic Action
(c) Chemical Action
(d) Salty Reaction

51.  For which branch of science U.N. has designated the year 2011 ?
(a) The International year of Chemistry
(b) The International year of Astronomy
(c) The International year of Bio-diversity
(d) The International year of Physics

§2. Moonisa
(a) Star (b) Planet
(c) Satellite (d) Meteorite
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53. What rays of sunlight are mostly utilized by chlorophyll in photo-synthesis ?
(@) Red (b) Yellow
(¢) Green (d) Blue

54. Combination of what substance in the alloy renders stainless steel non-magnetic ?
(a) Carbon (b) Chromium
(c) Nickel (d) Molybdenum

55. Which of the following is not a chemical fertilizer ?
(a) Urea (b) Sodium sulphate
(c) Super phosphate (d) Potassium nitrate

56. Montreal Protocol is related with the protection of
(a) Green house gases (b) Acidrain
(c¢) Ozone layer (d) Endangered species

57. The venom of Cobia is
(a) Neurotoxic (b) Haemotoxic
(c) Both(a) & (b) (d) None of the above

58. Insurgery, what is arthoplasty ?
(a) Open heart surgery
(b) Hip-joint replacement
(¢) Kidney transplant
(d) Blood Transfusion

59.  Which of the following countries secured the highest number of gold medals in the medal
tally of the Delhi Commonwealth Games, 2010.

(a) England (b) India
(c) Australia (d) Canada

60. Which gas is obtained from plastic ?
(a) Polynitrogen (b) Polyhydrogen
(c) Polychlorine (d) Polythelene

61. Water soluble vitamin is
(a) Vitamin A (b) Vitamin C
(c) Vitamin D (d) Vitamin E
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62.

63.

64.

65.

66.

67.

68.

69.

Night blindness is caused due to deficiency of
(a) Vitamin A (b) VitaminB,
(c) VitaminC (d) VitaminK

Which gas is filled in refrigerators ?
(a) Ammonia (b) Mafron
(c) Methane (d) Acetylene

What is the colour of the Black Box that is found in aircraft ?
(a) Orange (b) Red
(c) Blue (d) Black

The velocity of sound is maximum in
(@) Vacuum (b) Metal
(¢) Liquid (d) Air

Which of the following is a biodegradable pollutant ?
(a) Asbestos (b) DDT
(c) Plastic (d) Sewage

Which one of the following is the most fragile eco-system that will be first affected by
global warming ?

(a) Arctic and Greenland Ice sheet
(b) Amazon rain forest

(c) Taiga

(d) Indian Monsoon

Which one of the following is the unit of measure of the thickness of the ozone layer of the
atmosphere ?

(a) Knot (b) Dobson
(¢) Poise (d) Maxwell

The Headquarter of National Environmental Engineering Research Institute (NEERI) is
situated at

(a) Ahmedabad (b) Hyderabad
(¢) Nagpur (d) Pune

10 |
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70.

71.

72.

73.

74.

75.

76.

77.

78.

What is the number of union territories in India ?
(@ 5 ® 7
) 9 d 11

In India which one of the following is not a natural harbour ?
(@) Cochin (b) Mumbai
(c) Vishakhapatnam (d) Chennai

Where is the ‘Black Pagoda’ ?
(a) Madurai (b) Konark
(¢) Khajuraho (d) None of these

The second largest Island (next to Greenland) of the world is
(a) Bomeo (b) Malagasy
(c) Sumatra (d) New Guinea

The largest part of our hydrosphere is
(a) Atlantic ocean (b) Indian ocean

(c) Pacific ocean (d) Antarctica ocean

The ozone layer is situated in
(a) Troposphere (b) Stratosphere
(c) Mesosphere (d) Exosphere

Which was the principal plant used in Green Revolution ?
(a) Japonica Rice (b) Indian Rice
(c) Emmer Wheat (d) Mexican Wheat

Which tribe of Uttarakhand practices transhumance ?
(a) Tharu (b) Moksa
(c) Bhotia (d) Raji

On which river is Jog falls — the biggest waterfall of India ?
(a) Sherawati (b) Cauvery
(¢) Godawari (d) Narmada

11 |
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80.

81.

82.

83.

84.

85.

86.

Which of the following countries is the largest producer/exporter of castor-oilseeds ?
(a) France (b) India
(c) Japan (d) China

The total length of Earth’s equator is about
(a) 6,400 km (b) 12,800 km
(c) 40,000 km (d) 5,000 km

Which of the following staies has the greatest mica resources ?
(@) Rajasthan (b) Uttar Pradesh
(c) Uttarakhand (d) Haryana

What are Kingri-Bingri, Neeti, Shail-Shel and Dharma of Uttarakhand ?
(@) Rivers (b) Hills
(c) Religious places (d) Passes

The local time of a place is 6.00 AM when the Greenwitch Mean Time (GMT) is 3.00 AM,
what is the longitude of the place ?

(@) 45° West (b) 45°East
() 120° East (d) 120° West

Which one of the following Indian Island lies in between India and Srilanka ?
(a) Elephanta (b) Nicobar
(c) Rameshwaram (d) Salsette

Which one of the following areas of India does not come under the zone of high seismic
intensity ?

(a) Uttarakhand (b) Himachal Pradesh
(c) Kachchh (d) Karnataka Plateau

Which one of these is not included in the geographical group of countries known as
OCEANIA ?

(a) Indonesia (b) Melanesia
() Micronesia (d) Australia

12 |
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87.

88.

89.

90.

91.

92.

93.

Which district of Uttarakhand has the highest number of females per 1000 males according
to the provisional census report-2011 ?

(a) Almora (b) Rudraprayag
(c) Pithoragarh (d) Pauri

Under the Constitution of India organisation of village panchayat is a
(a) Fundamental Right

(b) Fundamental Duty

(c) Directive Principle

(d) None of the above

The altitude of Siwalik peaks fall in between
(a) 850-1200Mts
(b) 750-1100 Mts
(c) 750-1500 Mts
(d) 750-1300 Mts

Through how many Indian States Tropic of Cancer passes ?
(@ 6 (b) 8
) 7 @ 9

Which one of the following has been declared a World Heritage in Uttarakhand ?
(@) Corbett Park

(b) Rajaji Udyan

(¢) Nanda Devi Bio-sphere reserve

(d) None of these

Which one is not part of Great Lakes ?
(a) Bear (b) Superior
(c) Huron (d) Michigan

On which river is Dulhasti Power station situated ?
(a) Ganga (b) Yamuna
(c) Chenab (d) Cauvery

13 |
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9s.

96.

97.

98.

How many squares are there in the following picture ?

>

(@ 4 ®) >
) 6 @ 7

One of the following is not a characteristics of Indian agriculture :
(a) over dependence on nature

(b) low level of productivity

(c) multiplicity of crops

(d) predominance of large farms

Geometric mean can be used to find out
(a) Population Growth

(b) Growth rate of GNP

(c) Both the above

(d) None of (a) and (b)

Two series having the same mean, median and mode may
(a) have same value

(b) not have same value

(c) both(a) and (b)

(d) none of (a) and (b)

For a group data, the formula for median is based on
(a) Interpolation method

(b) Extrapolation method

(c) Trial and Error method

(d) Iterative method

14 |
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99.

100.

101.

102.

103.

104.

The Arithmetic Mean (AM) of two numbers is 6.5 and their GM (Geometric Mean) is 6.0.
The two numbers are

(@ 9,6 () 9,5
€ 7.6 @ 4,9

Which of the following Parliamentary Committee scrutinizes the report of the Comptroller
and Auditor General (CAG) of India ?

(a) Estimate Committee
(b) Assurance Committee
(c) Public Accounts Committee

(d) Standing Cominittee

Which is the missing fraction in the following series ?
4/9, 9/20, ....., 39/86

(a 17/40 (b) 19/42

(c) 20/44 d 29/53

What will be the length of the longest bamboo which can be kept in a room of 12 metres
length, 9 metres width and 8 metres height ?

(@) 12 metres (b) 14 metres
(¢) 21 metres (d) 17 metres

A clock is showing 8 A.M. How many degrees the hour hand will move by the time it
shows 2P.M. ?

(a) 180° (b) 140°
(c) 150° (d 165°

A train covers the 5 km of its journey at a speed of 30 km/hour and next 15 km at a speed of
45 km/hour. The average speed of the train was

(a) 35 km/hour (b) 40 kmv/hour
(c¢) 32 km/hour (d) 42 km/hour

15 |
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105. The first finance minister of Independent India was
(a) Sri Guljari Lal Nanda
(b)  Sri John Mathai
(¢) Sri Krishnamachari
(d) Smt. Sarojini Naidu

106. The central issue in Doha Round of talks of World Trade Organization was
(a) Issue related to agriculture
(b) Export from developing countries
(¢) Trade in service

(d) Intellectual property right related to trade

107. In which State is the Buddbhist site Tabo Monastery located ?
(a) Arunachal Pradesh (b) Himachal Pradesh
(c) Sikkim (d) Uttarakhand

108. The Somnath (Masi) Fair is joyfully celebrated in which State ?
(a) Uttarakhand (b) Bihar
(c) Rajasthan (d) Madhya Pradesh

109. Which of the following is not a direct tax in India ?
(a) Income tax (b) Wealth tax
(c) Estate duty (d) Sales tax

110. In which year the Export-Import (EXIM) Bank in India was set up ?
(a) 1980 (b) 1982
(c) 1981 (d) 1989

111. “Integrated Child Development Services” scheme was started in the year
(@) 1969 (b) 1984
(c) 1975 d) 1999

16 |
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112.

113.

114.

115.

116.

117.

118.

119.

A network of networks is simply called
(a) Extranet (b) Intranet
(c) Webnet (d) Internet

Which industry is primary user of Magnetic Ink Character Recognition (MICR) ?
(a) Banks (b) Footwear designing
(c¢) Book Publishing (d) None of these

The name of Indian super computer is
(a) Shubham (b) Param
(c) SX-2 (d) BBC-Micro

I.C. Chips for computer are usually made of
(a) Leaf (b) Chromium
(c) Silicon (d Gold

Net National Product (NNP) and Gross National Product (GNP)
(a) measure the value of National production

(b) evaluate the value of National Product at sectoral cost

(c) measure the value of export

(d) are different

Which ancient Indian book has been translated into 15 (fifteen) Indian and 04 (four) foreign
languages ?

(a) Hitopdesh (b) Panchtantra
(c¢) Katha Saritsagar (d) Shakuntala

Which is the most common ‘input device’ used today ?
(@) Mother board (b) Central Processing Unit
(c) Keyboard (d) Semi-conductor

The speedometer of a car represents
(a) Analog computer (b) Digital computer
(c) Hybrid computer (d) None of these

17 |
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121.

122.

123.

124.

125.

Which newspaper was started by Lokmanya Balgangadhar Tilak to serve the cause of
India’s freedom struggle ?

(a) Gadar (b) Kesari
(c) Free Hindustan (d) Swadesh Mitra

The writer of the book ‘India’s Second Freedom’ is
(a) Soli Sorabji

(b) Loknayak Jaiprakash Narain

(c) Lalkrishna Advani

(d) Atal Behari Bajpai

For what is the Manas sanctuary in Assam known ?
(a) Bears (b) Tigers
(c) Elephants ' (d) Birds

In the website of an organization ‘.com’ indicates
(a) Company () Command

(¢) Communication (d) Commercial

Which city of Japan recently hit severely by Tsunami and Nuclear radiation ?

(a) Hiroshima (b) Tokyo
(¢) Fukushima . (d) Kobe
Match the following :
A. Mahatma Gandhi 1. Dandi March
B. Jawaharlal Nehru 2.  Red shirt Movement
C. Khan Abdul Gaffar Khan 3.  Bardoli Satyagraha
D. Vallabhbhai Patel 4, Poorna Swaraj demand at
Lucknow Congress

Codes :

A B C D
(a) 4 1 3 2
(b) 4 3 2 1
(c) 2 1 4 3
@ 1 4 2 3
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126.

127.

128.

129.

130.

131.

132.

133.

What is ‘KAABA' ?

(a) Hindu Shrine

(b) Jew's Shrine

(¢) Muslim Shrine
(d) None of the above

Unemployment problem leads to poverty because
(a) People living below poverty line increase.
(b) There is rapid increase in population.

(¢) It increases inflation.

(d) It leads to rise in interest rate.

The number of bones in an adult human body is
(a) 214 (b) 206
(c) 253 (d) indefinite

Who is credited with introducing the beans and potatos in Bhagirathi valley ?
(a) Wilson (b) Ram Brahmachari
(c) Henry (d) Maharaja Sudarshan Shah

Which one of these is not a dance of Uttarakhand ?
(a) Jagar (b) Chanchari
(c) Terahtali (d) Thadia

Most of the unemployment in India is
(a) Technological (b) Cyclical
{c) Frictional (d) Structural

Four Mathas established by Adi Shankaracharya are
(a) Joshimath, Dwarka, Puri, Sringeri

(b)  Sringeri, Dwarka, Joshimath, Prayag

(¢) Dwarka, Joshimath, Prayag, Kanchi

(d) Puri, Sringeri, Dwarka, Varanasi

The core concept of the Eleventh Five Year Plan is
(a) Human Resource Development

(b) Growth with social justice & equality

(c) Human well being

(d) Faster and more inclusive growth

19 |
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134.

135.

136.

137.

138.

139.

140.

141.

The estimates of National Income are prepared by
(a) National Development Council

(b) National Productivity Council

(c) National Income Council

(d) Central Statistical Organization

*G-8 Mascoca Initiative’ is concerned with
(a) End of International Terrorism

(b) Matemity and Child Health

(c) Settlement of International Disputes
(d) Reduction of Greenhouse gas emission

When the Reserve Bank of India was established ?
(a) 1920 (b) 1930
(c) 1935 (d) 1940

The one rupee Indian note bears the signature of
(a) Governor, Reserve Bank of India

(b) Secretary, Ministry of Finance ‘

(¢) Finance Minister

(d) None of these

The red coloured human figures engraved on the Lakhuodyar near Almora belongs to
(a) Vedic period (b) Kushan period
(c) Stone age (d) Chand period

Soj-e-Vatan is the book written by

(a) Mahadevi Verma (b) Premchand

(¢) Sumitranandan Pant (d) Suryakant Tripathi ‘Nirala’
The first ever summit meeting of ‘BRICS Countries’ took place at

(a) Brazil (b) India

(c¢) Russia (d) China

United Nations Human Development Index has been developed by
(a) Mahboob-ul-Haq (b) Jagdish Bhagwati
(¢) Joseph Stiglitz (d) Amartya Sen
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142. Jallianwala Bagh massacre took place in the city
(a) Meerut (b) Agra
(c) Amritsar (d) Lahore

143. Which dynasty did not rule over North India ?
(a) Chalukyas (b) Rajputs
(c) Guptas (d) Mauryas

144. The Battle of Haldighati was fought in
(a) 1756 AD (b) 1576 AD
(c) 1756 BC d 1576 BC

145. The revolutionary woman who led the revolution of 1857 in Oudh was
(a) Lakshmibai (b) Ahilyabai
() Aruna Asaf Ali (d) Begum Hazrat Mahal

146. When did Mahatma Gandhi start first Fast unto Death ?
(a) At the time of communal award
(b) At the time of Calcutta riots
(c) At the time ofJ allianwala Bagh tragedy
(d) At the time of Delhi riots

147. What is Baku famous for ?
(a) Iron Industry
(b) Aircraft Industry
(c) Ship-building Industry
(d) Petrolgum

148. The State who launched “Atal Khadyanna Yojna” is
(a) Gujarat (b) Bihar
(c) Uttarakhand (d) Jharkhand

149. In which of the following seasons the Christmas is celebrated in Australia ?
(a) Winter (b) Summer
(c) Spring (d) Autumn

150. The call for ‘Quit India Movement” against Britishers was given in
(a) 1940 (b) 1942
(c) 1946 (d) 1936




